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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVI| _fgRec’, 'setVI VN, 'slSetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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m=905, FV0=0

25.0 A

24.5

24.0 -

23.5 A

23.0 -

22.5

—0—

M_W

905

T
910

915

25.5 A

25.0 A

24.5 A

24.0 A

23.5 A

23.0 -

m=1010, FVO=0

—O—

M_w

T
1010

T
1015

T
1020




hour

100

9:00
80
10:00
11:00 60
12:15 40
13:15
20
14:45
-0
%
& ¢§




P3-11

Bfie) | GEBIATIC (7)) | EME (EH/H) | XS EFE

09:00 288 130.0 (& =| 1Ri%@09:00 Bz (kBEREE)
10:00 288 130.0 B 1Ri%e10:00 B3h (REEER)
11:00 288 130.0 el Rige11:00 Bz (REAEHSE)
12:15 288 130.0 e Rige12:15 Bz (REAERSE)
13:15 288 130.0 el Rige13:15 Bal (REAEESE)
14:45 288 130.0 B 1Rige14:45 Bzh (REEESE)
24t]1728.0 (6%) 780. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (187.0 :

ZRIASERRIERE150. 0 ml.

150.0), FAIEEHT—R % XA HS
LoRGERRET 4 (288) 574 (250. 0) FF, FIREH T & MAEEIRS % X &R

REREBEEC (2575.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=35 (2025-05-07)

ET (ml/hr/plant)

VI, VOS8RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1496 | Lx00
100 11150 1200 1200
14 87 1000
50
- 500
60 60
Warning: lcol [FVI',| "FVO’'] missing
04 r0
200-( i — ME #30
FRV maxM
150 A - 25
--------------------------- H "
=
1007 1 . (| 20
N o
10 15
1
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
808- 1 1
Bylnit @D38 p3:04: ET=1184 Fg=1170.0 Ro=39.0 [ 1500
1
200 A :
1 - 1000
1
1
100 - i = R L 500
1
1
g g o I L —— 0
308- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g | B | BB | B | B | B|[B|B|KB| B B 5 5 5 B 5 5 5 B 5 | M4 BH | FH B | 1500
1
200 4 ByEt @D35 19:06: ET=1175 Fg=1200. 0 Ro=nan P ® q ® P ® Py
o oo [1000
100 ~ L 500
& 2  — ——. A—JF’ 0
308- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BB | BB | B | B | B | BI|[E|ZE|B |Zc]| B 5 5 5 B 5 5 E |Z=|%=| B BH | FH FA | 1500
[
200 4 ByWoFv @D38 I03:04: ET=887 [Fg=780.0 Ro=22.0
1 - 1000
1
1
100 ~ : - 500
1
1
i —  —
1.0 ) ] > 0
0osl B | B | S
0.6 -
0.4
0.2 A
0.0
—_— 4
1500 + o | _obs
—@— PPFD obs
1000
500 A
0
RH
RH_obs
RHo obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=470, FV0=0 m=530, FV0=0 m=610, FV0=0

18. 25 A
—&— ME —&— ME —&— ME - ME
17.6 18. 2 4
18. 00
17.4 4 18.0 A
17.75 4
17. 2 4
17.8 17.50
17.01 17.6
) 17. 25 +
16. 8 -
17.49 17.00 -
16. 6
T T T T T T T 17 2 L T T T 16 75 - T T T
600 700 800 900 470 475 480 530 535 540 610 615 620
m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
—o— mEe | 1687 —o— ME 6.4 —o— ME 16.25 4 —@— M_E
16. 6 |
16. 2 16.00
16. 4 i
16. 0 - 15.75
16. 0 15. 6 15. 25
15. 8 15. 4 4 15. 00
T T T T T T T T T T T
690 695 750 755 760 805 810 815 885 890 895
m=925,m FV0=0 m m=470,m FV0=0 m=530,m FV0=0
M_E 25 + —— M_w 935 - —— M_W 24.5 —o— M_W
24 23.0 24. 0 A
22.5 23.5 1
23 +
22.0 A 23.0 A
22 +
21.5 1
22.5 1
T T 21 L T T T T T 21 - 0 - T T T T T T
930 935 500 600 700 800 900 470 475 480 530 535 540
m=610,m FV0=0 m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0
—0— MW 2404+ —@— MW -@— MW 24.5 1 —0— MW
24.0
23 5 4 24.0
23.5
23 0 4 23.5 A
23.0
29 5 4 23.0
22.5
99 0 - 22.5 A
22.0
T T 21.5 4 T T T T T T 22.0 T T T
615 620 685 690 695 750 755 760 805 810 815



m=885, FV0=0

24.0 MW
23.5 A
23.0
22.5
22.0
T T T
885 890 895

m=925, FV0=0
25.0 A —o— MW
24.5 A
24.0 A
23.5 A
23.0 A
T T T
925 930 935




hour

100
7:35

8:35 80
10:00

- 60
11:15

- 40
12:25
13:30 20

14:55




P3-11

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:35 250 110.0 BS| 1Ri%e07:35 B (GREMEEEE)
08:35 250 110.0 BE| 1BRi%e08:35 B (KRR
10:00 250 110.0 FA| {Ri&@10:00 Bzl (GkAEEE)
11:15 250 110.0 BE| BRigeli1:15 Bz GREAERSE)
12:25 250 110.0 BE| Ri%e12:25 Bz (GRFEAERSE)
13:30 250 110.0 el Rige13:30 Bal (REAEHSE)
14:55 250 110.0 (2 =| 1BRige14:55 Bz (kBFERSE)
23t]1750.0 (70%) 770.0 3ZHKEC: 2080.0, PH: 5.8

TERRHEBRE STEEART (162.0 :

ZRIASERRIERE130.0 ml.

130.0), FIEEHT—@ L XA HS
LoRGERREC (250) 574 (212. 0) FF, FIREH T & ARG EIRS £ XER

REREEBIEC (2565.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

2

1

1

1.

3

2

1

3

2

1

3

2

1

1.

0.6

0.4+

0.2~

P3-11_0, Day=34 (2025-05-06)

004 VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1458 1 1500
1150 170
75
L 1000
50 750
L 500
25 1260 324 60
I14o |156 Warning: lcol ["FVI’, "FVO'] missing
i -0
of 7 v — wme P
50 4 FRV maxM
L 25
) S S S B IS [N O O Y OO | S O O S -
[ o
50 4 . il
U
8_
6_
4_
2_
Warning: lcol ["WC1',  "WC2'] missing
0
g TargetEC=2600. 0,  TargetSetEC=2080. 0 t
6_
4_
2_
Warning: lcol ['ECB’,| 'ECC’'] missing
0
g TargetPH=6. 5, TargetSetPH=5.8 N
6_
4_
2_
Warning: lcol ['PHB’,| 'PHC’'] missing
0
1
o | Bvlnit @D38 03:04: ET=1301 Fg=1170.0 Ro=35.0 #2000
C—o—o - 1500
00 e—o o
L 1000
00 - L 500
p— —@
0 ” =  STEE T 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 [ 17 | 18 | 19 | 20 [ 21 [ 22 | 23 [ 9400
wlZz=|Z2=| B | A [ B | B | B[ B | B | 5 5 5 5 | B 5 5 5 5 5 5 5 i 5
1
ByEt @D34 18:35: ET=1123 Fg=1170.0 Ro=nan ] - 1500
00 & +re & e & ©
1 — o—o—o L 1000
1
00 - : L 500
1
Tt —e—e [ | - 0
0 1 2 3 ] 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 [ 15 [ 16 [ 17 | 18 | 19 | 20 [ 21 | 22 | 23 [ 9400
wdZ=| 5= A | A [ B x| kK | kKB | B | B | H 5 5 EEARERAEEA EEA EEA EEAEEAEEEAR 5
1
ByWoFv @D38 I03:04: ET=750 Fg=770.0 Ro=23.0 - 1500
%0 ' 1000
I -
N | $——35—3
: - 500
)—o—o0—¢—0—o0—0 T
0 V= r- 5 B 0

80

60

4041 @ RH_obs

|
| _obs
PPFD_obs

RH

(] RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



18. 0

17.5 A

17.0 A

16.5 A

16. 0 1b

T
500

760 860
m=710,m FV0=0

17.25 1 —@—

17. 00

16. 75 1

16. 50

16. 25

16. 00

710

T T
715 720

m=950,m FV0=0

17.75 4+ —@—

17. 50

17. 25 A

17. 00 ~

16. 75

16. 50

950

955 960

m=590,m FV0=0

23.5

23.0

22.5 -

22.0 -

590

595 600

m=535, FV0=0 m=590, FV0=0
17.00 4 . 17.50 4
16. 98 - 17. 25 -
16. 96 - 17.00 ~
16. 92 - 16. 50 -
16.90 - o—eo—o—o | 6297
T T T T T
546 548 590 595 600
m=765,m FV0=0 m=805,m FV0=0
i 17.75 -
: —— —o— NE
17.50 -
17.0 -
17. 25 4
16. 8 -
17.00 -
16. 6 -
16. 75 -
16. 4 - 16,50
T T T T T
765 770 775 805 810 815
m=975,m FV0=0 m
——
18.2 -
18.0 -
17.8 -
17.6 -
975 980 985 500 600 700 800
m=645,m FV0=0 m=710,m FV0=0
24.0
24.0 - .
23.5 -
23.5 -
23.0 -
23.0 -
225 -
225 -
990 -
22.0 -
645 650 655 710 715 720

m=645, FV0=0

17. 4 A

17.2 4

17.0 4

16. 8 -

16. 6

16. 4 -

T T
650 655

m=860,n FV0=0

17.8 4

17.6

17. 4 -

17. 2 -

17.0 A

16. 8 -
8é5 8;0
m=535,n FV0=0

22. 60 A

22.58 A

22. 56 A

22.54 A

22.52 A

22.50 A

5&6
m=765,n FV0=0

24.0 A

23.5 A

23.0 -

22.5 A

22.0 A

770 775




m=805, FV0=0

24.5
—— MW
24.0
23.5 A
23.0 -
22.5
T T T
805 810 815

m=860, FV0=0
—— MW

24.0 -
23.5 -
23.0 -
22.5 -
22.0 -

T T T

860 865 870

m=950, FV0=0
24.0 - MW
23.5 A
23.0 -
22.5 A
22.0 -

T T T

950 955 960

m=975, FV0=0
—— MW

25.0 -
24.5 -
24.0 -
23.5 A

T T T

975 980 985




